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7 100kN/m#E#BZ % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 0.00 ~ 6.56 82.69 | NS | 000 ~ 0.00)| 1.66 891 Zzh s 1.00 | 5.00 ~ 8.00 82.69 | =nLS | 5,00 ~ 800 1.66 891
2 100kN/m#E#BZ % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 731 93.22 | #hds | 0oo ~ 731|178 9.564 Zzh s 1.00 | 5.00 ~ 9.40 93.22 | =R | 6500 ~ 940 1.78 9.564
3 100kN/m#%#BZ5| 1.00)| 000 ~ 006| 100.95 |3mEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1062 ~ 1080 100.95 |3mEHBZ3 -~ — — —
ThLlst 100006 ~ 785 100.00| Thids | 000 ~ 785|212 11.35 ThLlst 100|500 ~ 1062 100.00| =hs | 500 ~ 1080|212 11.35
4 100kN/m#%#BZ5| 1.00)| 000 ~ 006| 100.95 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1062 ~ 1080 100.95 |3mEHBZ3 -~ — — —
ThLlst 100006 ~ 785 100.00| Thids | 000 ~ 785|212 11.35 ThLlst 100|500 ~ 1062 100.00 | Ths | 500 ~ 1080|212 11.35
5 100kN/m#%# 25| 1.00)| 000 ~ 002 100.35 |3mZEBZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1054 ~ 1060 100.35 |3mZEHBZ3 -~ — — —
ThLlst 100|002 ~ 781 100.00 | Fhst | 000 ~ 781|176 9.40 zh sk 100|500 ~ 1054 100.00 | =hst | 500 ~ 1060|1.76 9.40
6 100kN/m#E#BZ % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 0.00 ~ 723 91.97 | #hds | 000 ~ 723|178 9.52 zhs 1.00 | 5.00 ~ 9.20 91.97 | RS | 500 ~ 920 1.78 9.52
7 100kN/m#E#BZ % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 0.00 ~ 6.94 87.88 | =S | 000 ~ 0.00)| 1.66 891 Zzh s 1.00 | 5.00 ~ 880 87.88 | =S | 5,00 ~ 880 | 1.66 891
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B % % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m%E#B % % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m%E#B 2 % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh st ~ Zh st ~
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